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Multiple Choice Questions :

T aRGTSe Ul & IR Bl Fal [dded a9 dR IR JRaar H faRay —
Choose the correct option to answer the following objective questions in the answer
sheet-

i. AT 96 3MR 404 HT AH. BT —
@) 16 @) 12 (@) 8 (@) 4
HCF of numbers 96 and 404 will be -
(a) 16 (b) 12 (c)8 (d)4 [1]

ii. 9T IgUep (x) =x*—2x-15F YLIH ad b &l Al ab BT AN BEIT —

@) 15 @) —15 (| 5 ) 2

If the zeros of the polynomial p (x) =x*—2x - 15 are a and b, then the
value of ab will be —
(a) 15 (b) -15 ()5 (d) 2 [1]

fii. 2 3 4,5 6 ® A (AT) BT —
(@) 2 @ 3 @) 4 () 5
The average (mean) of 2, 3, 4, 5, 6 will be —

(a) 2 (b) 3 (c)4 (d) 5 [1]

iv. A 2x+y=68 Al SH A< B ATl T BNT—
@) (1, 2) @ @ 1) ®) @ 2) () (1. 1)

If 2x+ y = 6 then the pair to satisfy this, will be- -

(a)(1,2) (b) (2,2) (©)(22) (d) (1,1) [1]



vi.

Vii.

Viii.

1X.

Ife AP T YW US 6 IR WA 3R 3 & dl AP Bl —
@) 6,9,12,15, . @)-6,-9,-12,-15.........

(9)3,6,9, ... (@)4,-6, 9,.........

If the first term of AP is 6 and common difference is 3 then AP will be —

(a)6,9,12, 15, ... (b) -6, -9, =12, =15 ~-—-——-—-

(O T T — (6] R P P—— [1]

e 4 @ P Igeuar @ A TE g —

(&) DrDIT-BTT @) TPl

(®) gy (8) WroT—gaT—gsn

Which of the following is not a criterion of symmetry?

(a) angle-angle-angle (b) side - angle-side

(c) arm - arm — arm (d) angle - side — side (1]

fa=g A (4,0) T B (0,4)8! A1 AB &1 7e9 375 BRI —

@) 0. 2) @ @ o ®) @ 2) (&) (2-2)
If A (4,0) and B (0, 4) are points, then the midpoint of AB will be —
(a) (0.2) (b) (2,0) (c) (2,2) (d)(-2,-2) [1]

AABCH /BHHBIVT & AT CosA =§ 2 a1 Sin AHT A BRT—

@) )

B lw

@ ¢ )

Sla
w | !

In AABC, /B is aright angle and CosA = % then the value of Sin A will be —

(a) 3 (b)s (©) (d)3 [1]

Y AR & BT 3HH SAE B a_ISR & A GI BN ST BV ERT—

» o

(@) 30° @) 60° (|) 45° () 90°

If the shadow of a tower is equal to its height, then the angle of elevation of
the Sun will be-
(a) 30° (b) 60° (c) 45° (d) 90° (1]
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XV.

T IRTA 10—25 BT T 8 8 —

@) 10 @) 15 @) 175 @ 25

The class symbol of class interval 10-25 is -

(a) 10 (b) 15 (c) 17.5 (d) 25 [1]
Bl g & @ & RRI R die T8 el X@n oo § el § —

(a1) o= (@) wARR (w) wfreedy () vad

The tangent lines drawn at the ends of the diameter of a circle are -
(a) perpendicular  (b) parallel (c) Intersecting (d) borer (1]

oI 7 . el U OGR @ld & SW Udh AgTell <@l gl | AgIel Bl
AfpaH AT & FhdT & —

@) 7 3. @) 14 ¥ (F) 21 | () 28 |HI

Side 7 cm. A hemisphere is placed on top of a cube-shaped block. The

maximum diameter of a hemisphere can be -

(a) 7 cm. (b) 14 cm. (c) 21 cm (d) 28 cm [1]
Th g B YIS agATeT & BT G AT Bl & —

@) 30° @) 4as5° (|) 60° () 90°

The value of the angle of each quadrant of a circle is-

(a) 30° (b) 45° (c) 60° (d) 90° [1]

Udh TR BT BT O TR 6 H d9T b 34 Bl UIfddpdrl & —

(@) o @ 1/4 @) 1/2 (@) 1

The probability of getting a number greater than 6 when a die is thrown is - (1]
(@0 (b) Ya (c) 2 (d) 1

TR Aol —3,—%,2,— — —%T 11 91 U 2|

(@122 @)30 (|)25 (2)32

Arithmetic series is —3, — %, 2,— — — . the 11th term of this A.P is -

(a) 22 (b) 30 (c) 25 (d) 32 (1]
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Fill in the blank spaces in the following questions and write in your answer sheet -
AP.:3,1,-1,-3 T UJH UG......... Td Wd SR.......... 2l

A.P. The first term of 3, 1, =1, =3 is.....and the common difference is ...

Cos%60° + Sin*60°HT B ..o 2 |

the solution of Cos? 60° + Sin260°is .........

TE g b R 6 WAL T HATS 8 WL B | @l fodd FAE. 2|

The radius of a cone is 6 cm. And height is 8 cm. The slant height of the cone is.....

ifferd 3Tl B HEGD ATd DR BT G oo 2 |

The formula to find the median of grouped data is .............

I UeToT BT 719 TP IRIRAT T 31D BT S HEAT B |

oS! @1 e @ gE gRT 1 fAe H T BT B AT BT B |

The value of the angle subtended by the minute hand of a clock in 1 minute

There is a probability of an impossible event.

3AfT TYTRIHAD Y -
Very short answer question:
1260 & WIS OIS Pl Ui & wY H fARIY |

Write the prime factors of 1260 as exponents.
IS 9gUa2x2 + x + kT US IYRF 3 © Al kBT A9 S0 DT |

If one zero of the polynomial 2x2? + x + k is 3, then find the value of k.

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]
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9 URYS oI 8 UF T ed 54 B. T | TH AIOTIONII FHIGR & w0 H foiRag |

The cost of 9 pencils and 8 pens is Rs 54. Write this as an algebraic
equation.

. AE 3
mﬁDEllBC%aﬁ:E—C?am

AD =2.7cmg d DB <THTS Sd PIfre ?

: .. AE 3
In the picture DE || BC is |fﬁ=5 and
AD = 2.7cm then find the length of DB?

g P, 4) @1 X— a7 9 [ oty |
Write the distance of point P (3, 4) from the X-axis.

14 I B30T & WMl &7 97T TSI & Fhal ST oy |
Find the total surface area of a sphere of radius 14 cm.

TP I B SHATS 1 T Td DT IHYSIT &%l 968 a7 W & Al 9ol &
MR @1 e =ma S |

If the height of a cylinder is 11 cm and its curved surface area is 968 square cm,
then find the radius of the base of the cylinder.

3501 14 I ATl T 9 BT U 91T = U 60°HT BV IRIRT BTl @ |
AT P TS ST DI |

An arc of a circle of radius 14 cm subtends an angle of 60° at the centre. Find the
length of the arc.

6 HIeX Hd Ub G Bl BT 2¢/3 W w1 B Al G BT IR BIvT A1
BT |

If the shadow of a 6 meter high pillar is 2+/3 meter long, then find the angle of
elevation of the Sun.

20 Hiex Sl &Y & Yol A U A bl HaTHT DIV 30° & AG DI Yol <Ieb Uge H

fepert & et Bl 2
The angle of depression of a boat from a 20 meter high river bridge is 30°. What
distance must the boat cover to reach the bridge ?

(1]

(1]

(1]

(1]

(1]

(1]

(1]

(1]
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Short Answer Type Questions :

Rrg PN 6 V2 T uRey I=m B (2]

Prove that ﬁ is an irrational number.

. 3 1 L . . .
A IGIT 6’3 - Tx B LAG -, — $ 8, T AP TF RN & ey FF Fearelt

P S DI |

If the zeroes of a polynomial 6x°—3 — 7x is%, - % , then check the truth of the relation [2]

between zeroes and coefficients .

THIBROT BT x—y + 1 = 031X 3x +2)— 12 = 0BT & HIFOT |

Solve the group of equations x-y+1=0 and 3x + 2y — 12 = 0. (2]
ABCD 1% @9eid & frad AB || CD © denn 59 fadel e fdg 0 W ufoees
: A0  CO
Hd & d gz & 20 = Do
ABCD is a trapezium in which AB || CD is and its diagonals intersect at point
A0  CO [2]
o then show that — = —
BO DO
X- 38T R 98 a5 = SISy ST fa=gaii A6, 5) 3R B(—4, 5) ¥ F9GRT T | o]

Find the point on the X-axis which is equidistant from the points A(6,5) and B(-4,5).

f=fy a1 ABC % AB=24 Al BC=7 ¥ Ga£/B=90° § @ Sin AT Sin C &T A4
ST BIFTT |

In a triangle ABC, AB = 24 cm, BC =7 cm andZB = 90° then find the value of Sin A [3]
and Sin C.

U qHAA S TR G AR B BT 40 AR e w=il & SRl & 5d QA Bl
AT PI0T 60° W HEHR 30° B Il 8, AR PI &HATg Sd DHIorY |

The shadow of a tower standing on a level ground becomes 40 meters longer when
the angle of elevation of the Sun decreases from 60° to 30°, find the height of the [2]
tower.

g HIRR &5 sl g0 @ o & R W= il 1€ el Y aar=R 8l 2

Prove that the tangents drawn at the ends of the diameter of a circle are parallel. [2]



12. 12 9. 1 96l TP ga @1 SaT e IR 60°HT BIVT ARG BRel & | W g
g <19 ga@el & A% S Iy |

12 cm. A chord of a circle of radius subtends an angle of 60° at the centre. Find the
areas of the corresponding minor and major circle segments. (2]

13. Udh SIIR P HTs 5 Hiex diels 30 9H $aTs 3 Wex 21 SR 9919 | 20 9 X
10 S X 7.5 HY A1 PY fHaAT sci dF MATIdHT T ?

The length of a wall is 5 meters, width is 30 cm and height is 3 meters. How many
bricks measuring 20 cm x 10 cm x 7.5 cm will be required to build a wall? [2]

14.  fa=faRaa el &1 dreged Sd B —

X 20 25 28 29 33 38 42 43

EIRSEIRG! 6 20 24 28 15 4 2 1

Find the median of the following data —

X 20 25 28 29 33 38 42 43

frequency 6 20 24 28 15 4 2 1 [2]

15. QI 9Tl BT U A1 hapl SidT 2 | §9P! a1 Wi 8 f —
i. <Fr ol | WEE sid Ui B |
ii. S 9Tl & 3fhl BT IRT 7 UK BAIT |
Two dice are thrown simultaneously. What is the probability that -

i. Equal marks will be obtained in both the dice.
ii. The sum of the numbers of both the dice will be 7. (2]
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Long Answer Type Questions :

fr=forRaa dea &1 garaR J1eg wfoud Ay fAafy 3 sid Hifse —

it 10—25 25—40 40—55 55—70 70—85 85—100
RES]
IRERAT 2 3 7 6 6 6

Find the arithmetic mean of the following distribution by assumed mean method —

Social 10—25 2540 40—55 55—70 7085 | 85—100
class
interval
frequency 2 3 7 6 6 6
341
A e gam de Ua wel @ 40 et & W gurt @ 2
R fHuT § | 4045 | 45—50 50—55 55—60 60—65 65—70 | 70—75
faenfefa a1 3 5 10 8 7 4 3
AR
faenfeal &1 Aredd YR SId I |
The distribution given below shows the weights of 40 students in a class.
weight in kg | 40—45 | 45—50 50—55 55—60 60—65 65—70 | 70—75
number of 3 5 10 8 7 4 3
students

Calculate the median weight of students.

(3]
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18.

19.

T 100 UThd WAT3H BT ANT S BHITOTY |
Find the sum of the first 100 natural numbers.

34T

AP BT YUH US TG IifH g HHI 1 9T 11 & IS $HS UGl BT ANTHS 36 & ol
el &1 GAT Sd B |

The first term and last term of A.P. is 1 and 11 respectively. If the sum of its terms
is 36 then find the number of terms. [3]

fagall P (-3, 4) 3R Q (4, 5) BT SIS+ dTel WHRIUS Bl FARMINGTT B3 drel fa=gall
& fAcerne Ad SIS |

Find the coordinates of the points trisecting the line segment joining the points P
(3,4) and Q (4,5).

34T
g8 U Sa BIFIY Siaid g (-3, P) g3l (-5, 4)3iR (=2, 3)I 3r=: farford
FRAT 8| PHT A9 A ST By ?
Find the ratio in which the point (-3, P) divides the points (-5, -4) and (-2. 3). Also
find the value of P? (3]
g oI & 5l g0 & aRva waiaR T, FwagHs 2T 2|
Prove that a parallelogram circumscribing a circle is a rhombus.

34T
g PR % 9 & aReTd 1 F@ST B /M — A B Yo g R RS
BT FART BT 2 |
Prove that the opposite of a quadrilateral circumscribed about a circle sides

3
subtend angles Complement on center front arms . [3]
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Essay Type Questions:
20. frfoRaa offes 225 fastell SuwHRol & Ufera Siad &rat (Gvel ® ) &) o <d
.
NICEECA 0—20 20—40 40—60 60—80 80—100 100—120
(eroet )
BIEESIEG| 10 35 52 61 38 29

SUHRUN BT TgelD Sild= Plel ST DI |

The following data shows the observed life span (In hours) of 225 electrical appliances:

Life span 0—20 | 20—40 | 40—60 | 60—80 | 80—100 | 100—120
(in hours)
frequency 10 35 52 61 38 29

Find the mode life span of the appliances.
34T
f=faRad de9 U Algeel @ dedl @ afHd o/ @d qUAT € | 7, 39 99 18 %

2| g« IRERAT [ Sa DI |

aiiaﬁa—s[@é 11—13 13—15 15—17 17—19 | 19—21 | 21—23 | 23—25
(& #)

izl isres| 7 6 9 13 f 5 4

The following distribution shows the daily pocket money of children in a locality.
Mean, pocket money is Rs 18. Find the missing frequency.

Daily pocket | 14—13 | 13—15 15—17 17—19 19—21 | 21—23 | 23—25
money (in
Rs)

number of 7 6 9 13 f 5 4
children




Q1 HARTT gTHS QUlids A1 oIty fSe av1f &1 ART 365 2 |

Find two consecutive positive integers whose sum of squares is 365.

AAdT

R b VAT A B IR 1 G 2 FSae] ofrg, dlels 9 g 8l 3iR
IHST &THA 800 m* BI? Ifa B, Al IFDI THTS 3R AlSlg AT DIIY |

Is it possible to make a mango orchard whose length is twice the width and its area is
800 square meters? It yes, find its length and width. [4]

: _ 03
g I Snd - 25n7 4 tan A

2Cos3A—CosA

SinA — 2Sin3A_

——— =tan A
2Cos3A—CosA

Prove that -

m ﬁﬁa cos A +1+S A: 2 Sec A

1+Sin A cos A

Prove that - cos A4 +1+S 4= 2Sec A [4]
1+S A cos A




